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1mol _547mol |1

moles N = 30.4 g X 14.0 g

2

1 mol
o = 4.35 mol
moles O =69.6 g X 16.0 g

and empirical formula = NOz ,  empirical mass = 40 42 X 16054609

molar mass = 4.11 -E— x22.4L=9219
N = valyp —92.0. Therefore the molecular formula = 2 x (NO2) 5{N204.
46.0 g l i

Empirical mass of CsH11=71.09

3919
= =2 o= 142 g/mol
molar mass 0.0275 mol g
= 142 9 = 2.0. Therefore the molecular formula = 2 x (CsH11) = C1oH22.
71.0 g
density = 22229 _ 1 1g6g/L, and massof1mol=1.16 % x 224 =26.0 g
0.450 L

empirical mass =1x12.0+1x1.0=13.09g

N = :12:‘:3‘)8 <o 2.0. Therefore the molecular formula = 2 x (CH) =
Vg

Percentage O = 100% — 42.9% = 57.1%

1 mol

moles C = 42.9 g x B 3.58 mol |1
empirical formula = CO and empirical mass =28.0 g

moles O = 57.1 g x e 557 mol | 1 ‘

16.0 g

1.68 g
molar mass = ———— = 28.0 g/mol
0.0600 mol S
N = 280 9 =1  and the molecular formulaE
280 g
. moles Si=33.0g x 218”1‘°' =117mol | 1
empirical formula = SiF3 and empirical mass =85.19

moles F = 67.0 g x T 3.53 mol 3

19.0 g
molar mass = 7.60 % x22.4 L =170 x 102 g

1570.x:10% g
N —— — . o
85.1 g 2.0 and the molecular formula = 2 x (SiF3) =iSi2F6 ‘
1 mol
. moles B=78.3¢gx =
g 108 g 7.25 mol 1

moles H = 21.7 g x 1 g‘o' =D . empirical formula = BHz and empirical mass = 1389

Vg

molar mass = 0.986 x 28.0 g=27.6g

N = 276 g 2.0 ’ r
By -2 and the molecular formula = 2 x (BH3) 5§ B2Hg
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